Tekla Structures

BILL OF MATERIAL

MARK | QTY DESCRIPTION LENGTH WEIGHT

REMARKS

BEAMS

sQ2

HSS16X4X3/8 178" 1587

SHOP PRIME  AS00-GR.B

Laxax1/a 5-11° 58

Laxax1/a Pty 48

ru

Laxax/a 5-11° 58

TOTAL WEIGHT THIS DRAWING 1751

RD 6'-41) 11'-815

178
S B4 A
& (PSsiexaxas ) a5 “aa” s
N
-~ ® e . e B e A % % '
Em=== == = = === = == ===%=====-"-""===—=-"/=——83}@&8, _ S Tk B8 - -—a - J L= =T = = = = = = = = === === = = = =
3 J —_____m %% " .% w\ N\~ __ _ _______________ ]
¥ 4 \_- . . __ __ __ _ . _ . __ .- BEWBWN " g \\™NV O _____ |
- g
&
A|TYP

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.

SHOP PRIME 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)

PROJECT:
TRULIANT MONUMENTAL STAIR

DRAWN BY:
DSA

DESCRIPTION:
BEAM

CHECKED BY:
RAD

: ! I sl !! I} {If I 5 él ARCH: ENG:

JOB NO:

CUSTOMER:

SHEET NO:
B4




Tekla Structures

1-4

BILL OF MATERIAL

MARK | QTY

DESCRIPTION

LENGTH

WEIGHT

REMARKS

BEAMS

sQ2

HSS16X4X3/8

50"

SHOP PRIME  AS00-GR.B

TOTAL WEIGHT THIS DRAWING

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
BEAM RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
B3




Tekla Structures

17-8

BILL OF MATERIAL

MARK | QTY

DESCRIPTION

LENGTH

WEIGHT

REMARKS

BEAMS

sQ2

HSS12X4X3/8

178"

1251

SHOP PRIME  AS00-GR.B

TOTAL WEIGHT THIS DRAWING

1251

( B2 >
HSS12X4X3s

1-0

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
BEAM RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
B2




Tekla Structures

1-0

BILL OF MATERIAL

MARK | QTY

DESCRIPTION

LENGTH

WEIGHT

REMARKS

BEAMS

sQ2

HSS12X4X3/8

58"

SHOP PRIME  AS00-GR.B

TOTAL WEIGHT THIS DRAWING

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
BEAM RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
B1




Tekla Structures

3-10

BILL OF MATERIAL

13'_7 MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
37 100 P  — -
1 2 = = = TOTAL WEIGHT THIS DRAA\ANE\/V\ZZ :; =
ﬁ ;o
3%s ¥ _ _ _
(bpl17) sr22 o5 (GR17) sr22 \/,POE: S22, _po5 _
_________ e — = = - = — - - - = L - — — — - =
/,&i"f‘ii"f‘ii"f‘ii"f‘l__j_f_; ff_':_ff__ﬁ:fj_',=ft_',=ft_',= il il ,:[ - fi_ﬂ
\
_po5_
13'-7
3-7 10-0
316 4-41Yg 4-411g 44116 1316
3, %OO ~
Cbpll7) 2 < GR17 ) A 4
A S - 1 \PiYyxa®/ 0 O] | g 12
e T P W WY 7 | 7
C I I { ] he TYP
| sr22 w sr22 sr22 | 0 3/16E <
T Ve ¥ < \ J |
A S s22) i — s22) o 0 - ( s22) . - | 6
|
PR S s22) I —— s22) o ¢ 0 s22) | 9
~ i sr22 sr22 sr22 i 6
D — a1 % -~ N~ [T} |
o G s22) 4 C s2) WPV 2\l ANN _C s;22) E o
iii 777777777777 sr22) . C s22) o \SN A\ I’ 020 sre2) i %:
e C sr22) | C sr22) 4 C s;2) | 6
| | |
DA s22) 4 C s22) | C s22) | 9
o C s22) 0 C s22) | C s22) | 6
£ ]y 4'-4%h6 TYP |
a E — % o5 |
”””””””””””””””””””””””””””””””””””””””””””””””””””””””””””””””””””””””””””” 1Yg| | [1Yg
<ﬂTYP A-A
DRAWING STATUS
SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (U.N.O.) ALL WELD TO BE E70 LH (U.N.O.)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
g)bll _ (5! !QIEI)IBQII _ gslz] Z ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR17




Tekla Structures

12'-815

22'-61h
2156 6 6'-11%6 7'-819%¢ 7-1%6 )
31 3%6
. bpl11 o Tpo2> 12
© G ﬁsrff\ — =N <GR16) \Srl_]_J — =N ﬁ*of\ Sré\ — TN =N\ N
2 ] po8> (bpl10) Pt Cpol_ e _pol_ e \SI2_ . po2_ Cbpl7) . Sr8_ br3) .
N — ~
_o. @ or\)q- 5 / A S ———— —?]L_— T I ———— —:%——_i_——i——_:_——i——_:!é = E=EE s === C=E=ECS==SCSC=S=SCfiE=ESCS=E=S===S=s= —:1/ § |
- N S S S | 4
L%’ (p14) (bra) (p12) br4 bra bri (pi0) fr:'
= W o 0 g || 534
> S \
12 LA g
12
22'-61
21546 6 14'-8 7-1%6
She 5'-43lg 5'-43fg 5'-43lg 5'-43lg 33,
315
N/
©
\\’
o (bplal) | e
=
O
_ < 7F\ N
N 91;5 N é: N
<
<
<
© ol T
™ —~
2 <
-
i\ <t
<
<
S
3
=
o
o
5 NN GR16 >
< NN N\ 4 PLY4"X4 1546
™ N N \‘S:/IZJ N \9'\?
N \S/-\ NN\ 1-5he
AN N {J NN N
NN NN N\
N J {1 N \
. YP
SN
<t
R A 1150 .
=
Cbpl7) pl10 ©
Y A i D A——
b (st8) AL [
) I € s8) C bs) | J
~ (s st8) |
Lo
~ (s st8) | @l .
0 < Lg)
LE ,,,,,,,,,,,,,, S 7r§ ,,,,,,,,,,,,,,,,, _| FI|
&~ R st8) B N
~ (s st8) |
~ (s st8) |
QM) %c‘": TYP ( po2 )
1
1'-515

ONE - GUARDRAIL - GR16

12

MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
GR16 1 GUARDRAIL BEV-2
GR16 1 PL1/4"X4 15/16" 9'-4" 40 SHOP PRIME A36
bpl7 1 PL1/4"X4 15/16" 7-5" 30 A36
bpl10 1 PL1/4"X4 15/16" 8'-4" 35 A36
bpl1l 1 PL1/4"X4 15/16" o-7" 2 A36
brl 1 ROD3/8" 0'-5 9/16" 0 A36
br3 1 ROD3/8" 0'-7 1/4" 0 A36
br4 3 ROD3/8" 0'-5 5/8" 0 A36
pl0 1 PL1/4"X7/8" 6'-8 1/8" 5 A36
pl2 1 PL1/4"X7/8" 17-4 7/16" 13 A36
pla 1 PL1/4"X7/8" 0'-8 3/4" 1 A36
p15 1 PL1/4"X7/8" 1'-0 7/16" 1 A36
pol 2 PL3/8"X2 1/2" 3'-4 5/8" 21 A36
po2 2 PL3/8"X2 1/2" 3'-4 9/16" 21 A36
po8 1 PL3/8"X2 1/2" 3'-5 5/16" 11 A36
sr8 9 ROD5/8" 5-4" 45 A36
sr9 9 ROD5/8" 1'-5 9/16" 12 A36
srl0 9 ROD5/8" 4'-7 3/8" 39 A36
srll 18 ROD5/8" 6'-4 1/8" 107 A36
TOTAL WEIGHT THIS DRAWING 383
1 o
™
; 12
h6 brl
f
10
(0]
‘ J|><3/16 TYP
| he
> ©
TYP i
36 °
31, 3
©
:o
°
:o
o ©
ol
(@] I
o
11, 11,
DRAWING STATUS
SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (UN.O.) | ALLWELD TO BE E70 LH (U.N.O.)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR16




Tekla Structures

ONE - GUARDRAIL - GR15

3% 2146 9
Lo
—
. (bpl12) _ i
{po3_ (bpl9 ) {po7_ p15) =
—_ s e e e e e e = = = :—E—:—:—E—:—:—E’-ﬂ:::::::::::::::::::::::::::::r‘ o|
o | fJF==f==============s=ccc==jc=c==s===ss=s=ss=s=o=s A=====s=3-c------------------------=-=- IR N
(o] (o]
3
™ &: TYP T
12
16'-51346
273 10 14'-8 6 2156
31316 443 5-43g 5-43g 1146
36
O
(bpl12) 5?
(o]
u
TYP ~ > I8
<
<t
<
<~ ol £
9
< 5
-
<t N
<t
<
g
I
X
o
> q
3
™
g\,’L
X
©
~
—
br5
12)
| GR15 > s
A PLY4"X4 15/16/ o
"y
(40)
i
© ™
—
=)
({o]
<
<
<
Lo © <
o =
'S < ©
— Te)
! Lfl)
N < N
<t
<
S
o

TYP

MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
GR15 1 GUARDRAIL BEV-2
GR15 1 PL1/4"X4 15/16" 9'-4" 40 SHOP PRIME A36
bpl8 1 PL1/4"X4 15/16" 1-1" 3 A36
bpl9 1 PL1/4"X4 15/16" 8'-4" 35 A36
bpl12 1 PL1/4"X4 15/16" o-7" 2 A36
brl 1 ROD3/8" 0'-5 9/16" 0 A36
br5 3 ROD3/8" 0'-5 5/8" 0 A36
pll 1 PL1/4"X7/8" 1-11/8" 1 A36
pl2 1 PL1/4"X7/8" 17'-4 7/16" 13 A36
pl5 1 PL1/4"X7/8" 1'-0 7/16" 1 A36
pl8 1 PL1/4"X7/8" 0'-8 3/4" 1 A36
po2 1 PL3/8"X2 1/2" 3'-4 9/16" 11 A36
po3 2 PL3/8"X2 1/2" 3'-4 5/8" 21 A36
po7 1 PL3/8"X2 1/2" 3'-55/16" 11 A36
srl0 9 ROD5/8" 4'-7 3/8" 39 A36
srll 18 ROD5/8" 6'-4 1/8" 107 A36
srl3 9 ROD5/8" 0'-5 15/16" 4 A36
TOTAL WEIGHT THIS DRAWING 288
3 O
T/"f ?’0/ N~
{ 12
2
CTRD
?
|
5 6N /Tvp
|
31, ol
|
é?
|
0]
|
AN
g0
|
(0}
|
|
?
|
o
1Yy 1y
A-A
DRAWING STATUS
SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (U.N.O.) ALL WELD TO BE E70 LH (U.N.O.)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR15




Tekla Structures

22'-61
7'-2%6 13'-9 1'-4 2196
(q\] 7‘5\0
! 3%s 315
—— . 3%
12 \/pqz/ B N M
1 (br2 Cbpl2) {po2_ ( bpl6 ) Tpol’ (GR14) pol’ (bpl13) | po9._ % <~ 9
Ve / p
ol - f=======fF====Z==============Sf====-=-==-==q=================f=======================J®==3 \| F 7 :
\ | l |
5 S 7 6 br4 ©
AR (p7) brl (p6) » (brl) (pi7) g F
< — N
53 || T8 2 S
— g 12
12
22'-61
7'-2%6 13-9 1'-4 2196
3% 5'-43g 5-43 5'-43g 5-43g 616
315
YP S
A 36
= 2% TYP
© (bpl2) (p7)
y s
___ (s8) ~
ﬁ.(\\ll (br2) sr8 < brl
. (s8) ~
Lo <
ol . \s8)
= . Cs8) ~
N 7777777777777777773[;8 7777777777777 <t
. (s8) ~
. (s8) ¥
Cpo2) ,;f
TYP
i =3
3 09
oy @
i
N
=
~
N
—
)
(40)
<
o
S
-
—
O
(pl5°
—
< < 0y
: Sl
& &

ONE - GUARDRAIL - GR14

TYP

(bpl2 )

=

7’&( f

BN

3he
31,

11,

po?2
0---0---0---0----0----0----0----0-\-0

11,

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
GR14 1 GUARDRAIL BEV-2

GR14 1 PL1/4"X4 15/16" 9-4" 40 SHOP PRIME A36
bpl2 1 PL1/4"X4 15/16" 7-5" 30 A36
bpl6 1 PL1/4"X4 15/16" 7-3" 31 A36
bpl13 1 PL1/4"X4 15/16" -7 5 A36
brl 2 ROD3/8" 0'-5 9/16" 0 A36
br2 1 ROD3/8" 0'-7 1/4" 0 A36
brd 2 ROD3/8" 0'-5 5/8" 0 A36
p6 1 PL1/4"X7/8" 16'-3 3/8" 12 A36

p7 1 PL1/4"X7/8" 6'-8 5/8" 5 A36
p15 1 PL1/4"X7/8" 1'-0 7/16" 1 A36
p17 1 PL1/4"X7/8" 1'-7 3/16" 1 A36
pol 2 PL3/8"X2 1/2" 3'-4 5/8" 21 A36
po2 2 PL3/8"X2 1/2" 3'-49/16" 21 A36
po9 1 PL3/8"X2 1/2" 3'-10 9/16" 12 A36
sr8 9 RODS5/8" 5-4" 45 A36
sril 9 ROD5/8" 6'-4 1/8" 53 A36
srl5 9 RODS5/8" 0-7 7/8" 5 A36
srl6 9 ROD5/8" 5'-6 13/16" 47 A36
srl7 9 ROD5/8" 4'-6 1/4" 38 A36
sril8 9 ROD5/8" 1-6 1/2" 13 A36

TOTAL WEIGHT THIS DRAWING 383

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (U.N.O.) ALL WELD TO BE E70 LH (U.N.O.)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER;: SHEET NO:
GR14




Tekla Structures

16511 MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
- 16 GR13 1 GUARDRAIL BEV-2
7/ , , 7/ GR13 1 PL1/4"X4 15/16" 9'-4" 40 SHOP PRIME A36
28 1-4 13-9 11 2’8 bpl4 1 PL1/4"X4 15/16" 1-1" 3 A36
bpl5 1 PL1/4"X4 15/16" 7-3" 31 A36
7, 9
B 5%6 59/ 7 bpl14 1 PL1/4"X4 15/16" 17" 5 A36
3% . 16 B brl 2 ROD3/8" 0-5 9/16" 0 A36
br5 2 ROD3/8" 0-55/8" 0 A36
— (bpll4) — - A — —~ A (bpla) | 3%se .
\PQlO) (GR13) (sr16 \903,\ v Srd 1 (bpl5 ) S )3 SILO ._po2 ) p6 1 PLL/4"X7/8" 16-3 3/8" 12 A36
/ v / —
== === =—=—-=-=—c-=-==-=-=#=-=z=-===-=gt=—==—==——& - — = =~ =\ ==~ =~~~ — S N N N N N N NN W m— < P8 ! PLLA™XTI8" 1-15/8" ! A36
;g Z === = ﬁ ************************************************************************ = — “i\ p16 1 PLL/4"X7/8" 1-7 1/8" 1 A36
£ L L po2 1 PL3/8"X2 1/2" 3-49/16" 11 A36
&4Q (bri) (p6) br5 br5 (p8) brl po3 2 PL3/8"X2 1/2" 3.4 5/8" 21 A36
s (p16) pol0 1 PL3/8"X2 1/2" 3-10 9/16" 12 A36
e
sr7 9 ROD5/8" 0-6 7/8" 5 A36
12 srll 9 ROD5/8" 6-4 1/8" 53 A36
srl5 9 ROD5/8" 0-7 7/8" 5 A36
srl6 9 ROD5/8" 56 13/16" 47 A36
srl7 9 ROD5/8" 4.6 1/4" 38 A36
3% TOTAL WEIGHT THIS DRAWING 287
N
-
16'-51116
2fg 1'-4 13'-9 11 2fg
S
0
©
q‘ O
3 0
|4 N~
~ bpl14 /A
< he < 12
brl
A 16
=~ (90 Q
< S ‘ 3
- A ﬁ§</16 TYP
i TYP > | e
< he 0
31, l
~ 5
o
= |
™ )
ol
=
AN
% 5 1
% 3 °
N 1
N o
11, 11,
|
A —
N
-
3% ~ A-A
N
—
N
—
GR13
PLYs"X4 1506 )~ o
h
™
=
-~
—
©
pl6
<
<
<
- <
:_'i < <t )
(30] i‘_ o%_
I ©
s DRAWING STATUS
<
%ﬁ
(_pol0 )
A TYP :
SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (U.N.O.) ALL WELD TO BE E70 LH (U.N.O.)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR13




Tekla Structures

1346

1316

3-10

po5

715

05

3

po5

11,

%Qj ~
12

3he >
3he

11,

F44044&44,44%4044944&44}4%44)\

>
>

BILL OF MATERIAL

MARK

QTY DESCRIPTION LENGTH

WEIGHT REMARKS

GR12

4 GUARDRAILS

BEV-2

GRI12

4 PLYA"X4 15/16" 17

28 SHOP PRIME

8 PLIIB'X2 1/2" 399/16"

120

36 RODS/B" 1-4508"

TOTAL WEIGHT THIS DRAWING

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR12




Tekla Structures

3-10

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS
21'-6
5'-11 10'-0 5-7
1346 5.4 5.4 5.4 5.4 1316
TYP A
(bpl15 ) ( GR11 ) (bpl16 )
P — PL14y"X4 1546 P
- 71 777777777777777777777777777777777777 1;7 - 1
. (sr20) ______ f (sr20) I (sr20) I (sr20) _|
s v Cs21y 4 0 (s21) 9y 0 Ce21) 4 (Cs21) _|
s v Cs21y 1 0 (s21) NSNS E7Y - W W 0 (Ce21) _|
< Cea I 0 Ce21) H I 5 ) Ceny fmg}
s v Cs21y | 0 (s21) BN ld 71 ™ AN 4 0 (Cs21) 0 _|
s v Cs21y 4 000 (s21) 1 @ B () 7~ \ 7 0 (Ce21) _|
s v Cs21y 4 0 (s21) PF” __ A WD IEP AV_AN_ 0 (Ce21) 0 _|
s v Cs21y 4 00 (s21) A WP (sRi\” \ o~ 4 (Ce21) _|
s k00 (sr21) | | (s21) A9 \ \SpA\)\ o~ 4 0 (Cs21) 0 _|
N
R TYPM
5'-3%g

3
TYP
3/16E <

44|—4—<r494+49740—e—&—<)4464ﬁ

0
9

1Y || |1,
A-A

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR11




Tekla Structures

3-10

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
A
21'-6
5-7 10'-0 5'-11
1346 5-4 5-4 5-4 5-4 1346
GR10
((bpll ) < PLY4"X4 1546 > bpl15
- O O O O O O _ e - _ _ -  _ _ O O O O O O _ 1]

,,,,,,,,,,,,,,,,,,,, il _ _ _ _ 0 _ _ _ _ _ | i -

(21 o (e2t) I (s21) (1)
< (sr21 ) (sr21 ) (sr21 ) (sr21 ) <
Y _ Ceaa) - Cs21) I (s21) | L Cs21) ¥
Y _ Cesaa) - Cs21) I Cs21) | L (s21) ¥
Y _ Cesaa) - Cs21) I Cs21) | L (s21) ¥
Y _ Cesaa) S Cs20) 1 (s21) | - (s21) ¥
Y _ Ceaa) - Cs21) 0 (s21) | L Cs21) ¥
Y _ Ceaa) - Cs21) 0 (s21) |  (s21) ¥
Y _ Ceaa) I 7 X 1 R - Ce2r) 0 (1) ¥
N N
$ > O | s> s

GR10

po5
0-0 -0--0-0--0-9©--0-90

1Ya| | 1Y,

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR10




Tekla Structures

3%e6 GR9) “sr19)
/
FL_ - - - - '_L J— !
AN
o A T~ <
b‘f’i N po5 _po5
12
A
1-11
31346 1'-6
GR9
( PLY4"X4 1546 )
2 T ]
=y = — = = T
\77777( srl9_ ) ] \
~ L,ﬁL si9) | |
< \ \
L Csrlo) |
D D B |
< \ \
S L (s19) |
a 1 1
¥ L (srl9) | \
¥ ! 7777( §r£9 7 ) ] !
P i i
| Ceno) | |
< ‘ 7777§r£9 777777 ‘
\ \
f | i TYP |
J -J

@Sfj -
12
36
GR9 3/16> <TYP

NG

po5

O--0--0---0---0--0--0---0---0

1Yy 1Y

BILL OF MATERIAL

MARK | QTY

DESCRIPTION LENGTH WEIGHT

REMARKS

GUARDRAIL

BEV-2

PLYA"X4 15/16" pty 8

SHOP PRIME

PLIIB'X2 1/2" 399/16" 2

RODS/B" 15 508" 12

TOTAL WEIGHT THIS DRAWING a4

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR9




Tekla Structures

1346

1-6

4316

3-10

715

po5

05

3%6

GR8

po5

O --0---0---0---0--0---0---0---0

1Yy

PNIE

%Qﬁ ~

12

3

TYP
3he

1Y

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
GR8 2 GUARDRAILS BEV-2
GR8 2 PLYA"X4 15/16" pty 16 SHOP PRIME A36
pos 4 PLIIB'X2 1/2" 399/16" 48 A36
sio | 18 RODS/B" 15 508" 25 A36
TOTAL WEIGHT THIS DRAWING 8

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR8




Tekla Structures

3-10

s, | 5%6 5%6 ||’k
3% 3%
. GR7 12 .
"po5 /544’ "pos5
N /4 H_
[{e]
Y/ 5 5 N\
. &E:) brl %%
b 3
—
e 12
6'-01h
24 5'-8 21,
3116 5-0% 436
A GR7
( PLY4"X4 1546 >
/T‘ 7777777777777777777777777777777 \—‘ AN
o ———— e
= ( \ J
- | (
© . (s14y | Cp5)| &
¥ bri (srid) .\
—_—m_ = = o
| ___ (sa> OO i =
¥ . (s |
| \
N | v B I
© | |
5 . Ceay |
™
¥ | v Gmn |
< | |
\ 777777777777777777{&%) 7 7777777777777777777 1
< ‘ 77777777777777777775174 77777777777777777777 ‘
| \
n
o | ®—|7<TYP ‘
= o T 4-113 |
[ |

3 LN
GR7 T 5
A
he /< y
ﬁ h6 ><
5 e TYP
Q
bri 7 o
( &ro ) |
31/4 |
3he @
| o
1
o)
)
1
o]
o
o
1Yy 1Yy
A-A

BILL OF MATERIAL

DESCRIPTION

LENGTH WEIGHT REMARKS

GUARDRAIL

BEV-2

PLYA"X4 15/16"

58" 2 SHOP PRIME

ROD3/8"

0-59/16" 0

PLYA'XT/8"

6-111/16" 5

PLI/B'X2 112"

399/16" 2

RODS/B"

4-1134" 42

TOTAL WEIGHT THIS DRAWING o4

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR7




12'-815

Tekla Structures

MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS
22'-615 GR6 1 GUARDRAIL BEV-2
GR6 1 PLL/4"X4 15/16" 9-4" 40 SHOP PRIME A36
bpl7 1 PLL/4"X4 15/16" 75" 30 A36
2156 6 6'-11l1¢ 7'-81%6 7-1%¢ .. .. >
bpl10 1 PLL/4"X4 15/16 8-4 35 A36
bpl1l 1 PLL/4"X4 15/16" 0-7" 2 A36
3% 3% %) ~ bri 1 ROD3/8" 05 9/16" 0 A36
02 - br3 1 ROD3/8" 0-7 1/4" 0 A36
N bpl1l o P »Po: - 12 bra 3 | ROD3/8" 05 5/8" 0 A36
PS g @64) (_bpl10 ) >p ol_ /\fp 02_ Cbpl7) br3 N p10 1 PL1/4"X7/8" 6-8 1/8" 5 A36
_o. CD(Y\)q- /UL ———————————————————————————————————————————————————————— 4&::::::__::::::::::::::::::::E::::::::::::::::::::k —————————————— 1 ?E:::::::::::::::::::::::::: :2 o}qi pl2 1 PL1/4"X7/8" 17-47/16" 13 A36
-~ -_— | - 7 pl4 1 PLL/4"XT7/8" 0'-8 3/4" 1 A36
e e —~ =
© 14 X p15 1 PLL/4"XT/8" 1-07/16" 1 A36
S (pl4) (pa) (pl2) bra brl (p10) !
© pol 2 PL3/8"X2 1/2" 3-45/8" 21 A36
o > g o 7/8 53/4
& < i po2 2 PL3/8"X2 1/2" 3-49/16" 21 A36
12 v = pod 1 PL3/8"X2 1/2" 3-55/16" 11 A36
12 sr8 9 ROD5/8" 54" 45 A36
sr9 9 ROD5/8" 1-59/16" 12 A36
sr10 9 ROD5/8" 4.7 358" 39 A36
sl 18 ROD5/8" 6-4 3/16" 107 A36
22'_61/2 TOTAL WEIGHT THIS DRAWING 383
21546 6 7-1%6
e 5-43g 5-43g 543 33
315
N /S
©
N
© 6
< bplll —
©
{pl5
< 3
v i
< 'he brl
e
w8 T (p10)
h = ®
o F ‘ J|><3/16 TYP
N | he
N v ©
N TYP |
3hel” °
< 3%, |
o
3 |
K 0]
<% |
°
RN |
@ 0
o |
= ~\_ [ GR6 > ‘
< N ~ .\ PLY4"X4 1546 & ?
! D A |
°° NN 2,
D
N N 7N h
\\ \\?\ {{ \\\ N 4
NN N
\{J 1Y,
A-A
< YP
o
Al A
_t 15
™ 116 °
5
Cbpl7) p10 ©
A (s 8 I S
I (st8) Al [
G s8) L b3) | J
<
ffffffffffffff L — DRAWING STATUS
< sr8 o L
********************************* = a5 ™
=2 > (s st8 ) | S
L(? it
N ~ (s st8 ) | N
~ (s st8) |
~> (s st8) |
T T SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
(po2) | Typ (po2) SHOP PRIME -
3/4" BOLTS, ST (U.N.O.) ALL WELD TO BE E70 LH (U.N.O.)
1'-51 &
A PROJECT:
QJ TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR6




Tekla Structures

ONE - GUARDRAIL - GR5

2lg 10 14'-8 6 2l
Q
7 9
3 5%6 | < 5%6 [F
NG N
3%6 -~ 3%e6
12 o bpll12
GRS (po3_ o3 (bpl9) (pob_
RN / ,EE,ZTZEZ,_: T e ———_— Bj:',s o T T EEmEEmmm————— ,'Af,; === ﬁ% - - - - T T T T T T T T T oo TT-TTo ::DL X J
O ©
&7 (p11)Chri) (p12) br5 br5 br5 (p13)
S
Ly S
12
16'-511/16
2l 10 14'-8 6 2l
31316 4-43, 5-43g 5-43g 1146
315
%X N
\g)po —
S
bpl12 ‘Er
O
TYP e
Z
. (p13) ¥
=
. 6\'\"‘0 = Z 4 4 Z bl’5 <~
> e =z
_ <
= g / /// « /// < 8 ‘c?
= g “ /// “4 O L(Z 2t
K Z 7 9} ¥ -
\:/L < N
1
<
-
20
o)
™
QQj
o
ET) O
—
3
™
g\,'?/
=
o
o
—
<~ br5 )
A 12) _
GR5 > s
PLIA"X4 50 |~ 7
&
<
© ™
k:
O
pll -
<
< brl
<
Lo © <
| =
'S < 0
— Te)
! L(l)
N <t N
< (9-sr13)
<
=3
o

£
bom) |
<
6
o CTRD
= ©
3%, P
o
o
o
o
O I
S o
9
o
13, 11,

A-A

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
GR5 1 GUARDRAIL BEV-2
GR5 1 PL1/4"X4 15/16" 9-4" 40 SHOP PRIME A36
bpl8 1 PL1/4"X4 15/16" 1-1" 3 A36
bpl9 1 PL1/4"X4 15/16" 8-4" 35 A36
bpl12 1 PL1/4"X4 15/16" o-7" 2 A36
brl 1 ROD3/8" 0'-5 9/16" 0 A36
br5 3 ROD3/8" 0'-5 5/8" 0 A36
pll 1 PL1/4"X7/8" 1-11/8" 1 A36
pl12 1 PL1/4"X7/8" 17-4 7/16" 13 A36
p13 1 PL1/4"X7/8" 0'-8 5/8" 1 A36
po2 1 PL3/8"X2 1/2" 3'-49/16" 11 A36
po3 2 PL3/8"X2 1/2" 3-45/8" 21 A36
po6 1 PL3/8"X2 1/2" 3'-55/16" 11 A36
srl10 9 ROD5/8" 4'-7 3/8" 39 A36
sril 9 ROD5/8" 6'-4 1/8" 53 A36
sr12 9 ROD5/8" 6'-3 13/16" 53 A36
sr13 9 ROD5/8" 0'-5 15/16" 4 A36
TOTAL WEIGHT THIS DRAWING 287

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (U.N.O.) ALL WELD TO BE E70 LH (U.N.O.)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER;: SHEET NO:
GR5




Tekla Structures

BILL OF MATERIAL
18I-33/16 MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS
9-1%¢6 9-1%s6 o e
3% 3% 2 N ;:,7 o 5
12 P9 2 pumixwa“ “ 17‘6 11/15: 2 A6
N ~ PR 315 3%6 | s | roosw sa05 297 o
7\90 H \pog _ . . PR TOTAL WEIGHT THIS DRAWING 565
75 ‘(b2 (Cbpl3) S5 _po2_ 815 GR4 _po2_ S5 br3 02"
§ ‘Ef'!_ = =———==-—==="==="==="==="==3=-=-==-=-= E—:—:—E—:—%E—:—:—E—:—:—E—:—:—Eeﬂz—:—:—E—:—:—E—:—/:—E—:—:—E—:—:—E—:—:—E—:—: =_j/
- ————————r . 7
N
= 8 o
3] & 5 bt ort & (o
SO S
O N “
T F[\e, 12
- g || 534
12
18336
9-1%s L 9-1%s
|
33 5-10116 5 -1Q11/16 5-10116 33,
11544
2% 9
Copis) (p9) (b A o bt Rt :
_ A A e ™ _ N Pxsa4hs / _ ©
+ L
I - - 1 A 4] ,,,,,,,,,,,,, N £ N | N £ 1 [ =
NAREED [ — T R 0 — CEPEE .\ WA W . Ty —1
< (sr5) sr5 (sr5) br3) #‘N\' e
- _(s5) ___ & _______(s5) A _(s5) >
h N & s ) I (s5) _ st ) _
0 < sr5 sr5 sr5 % <
™ -——— - = =
D I I € sr5) 4 (s5) = 4 ¢ sr5 ) _| =
< . C s6) & 0 Ce5) 4 C s6) _ « ‘
h N & s ) 0 (s6) i\ st ) _ o
D N R ¢ s5) N ¢ I I s5) _ J(
S TYP —" 1a| | |15
2 (poz) W (po2) 51056 (po2) ‘

A-A

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR4




Tekla Structures

g 5%

3-5

5%6 ||’k
9
3716 o 3%
Cpoz2” GR3) =& Tpoz
'/ 5 5 A\
b?gi N brl @ brl N i%‘o
12 12
61116
27lg 5'-8 27lg
31346 5'-0 4346
<GR3 >
A PLY4"X4 1546
n 7 N
(o] —— S
= [ i = i |
—
© ! sré |
- | @ iv,
¥ . (s i N
[ | ;‘r\‘ﬂ.
<t brl ‘ 16 ‘ brl NE
\ |
N . Gse ;
q_ | |
| G (- |
F Q 2
o| « 9| |
_F.| | Sré |
N < = = 25 SR |
- \s6) |
< ‘77777777777777777777§§ 77777777777777777777 ‘
\ \
N | sré |
-« ~ |
™ I g TYP I
4'-115g

TYP

36
31,

po2

1Yy 1Yy

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
GR3 2 GUARDRAILS BEV-2
GR3 2 PLYA"X4 15/16" 58" a7 SHOP PRIME A36
br1 4 ROD3/8" 0-59/16" 1 A36
5 2 PLYA'XT/8" 6-111/16" 9 A36
po2 4 PLI/B'X2 112" 349/16" a2 A36
s6 | 18 RODS/B" 4-115/8" 84 A36
TOTAL WEIGHT THIS DRAWING 183

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR3




Tekla Structures

11113

21'-3
12 7-2%6 1367 5%6
(q\]
o | 7 9
3%e6 315 418 | 5716
©
&)62 ) ‘z:. §
0y I
7’ T, T AN T TN o
1 (br2 (bpl2) {po2_ Cbpl6 ) pol_ GR2 (pol_ brll\f
) ~ 20
@ AN P\j—'::::::::::::::::::::::jf_zE':_E - jiff:',ijzt:',ifj}f_ff:',E,Ef:lEjff__f__ff__?_f_'f__?_f'f__?:jl—ffi:f:ff::f:ff::f‘ff:q%,E ST ————————_———_——— ?' @ @ ">
AN . — T
= (o] — — = ©
3 = 12 - brl 6 bra bra _pol  (bra ) =
e P e 2
53| g 2o al (p19) ol 5%
‘ .(9(5)0 — —
TYP
12
21'-3
7'-2%6 13'-67lg 5%6
335 5'-15%6 5'-1%6 5'-1%¢6 5'-1%¢6 3
=t
-
—
(o]
<
—N >I
< br2 *J%
<
Lo <t ‘C\l
1 )
E’O = 8 N N
9 - S NN
_t X
N \ N
X
< N : N
< NG
I A > N
N NG AN
N S
;'(N \ \\ N \\\ “:T_'\
™ X X ™ LOY
N XN DX X \5;% ©
© IS N 3 0{'
5 O N N &Y N~
< X X o
N N N N
~ AlTyp 3, e N Y
*Z o N \\
&I
< | > N N
JF\C N br4 J]{é cR3
N PLY4"X4 15/16>
N A
N P
N N\
AN N
N DX RN
NN X N
=2 S N N N NN
N N DX ™D N
o N DX D o™ N\
DU U R I >
U U U N \{ NN /
AN AN AN NYIAN N N
U U N\ SO N\ N\ N\ 17g 33,
) U U N \\\S/:}\\ N N
NN XN NS XN AXAU™ . RN
\ X X X XY AN X AN N N
U N U N ({ NN DN R M
o X U N O O U W XN pl9 9
R 01X ) U N \{ X X X X =
DA \\\ \\\ \\S(*Z\\\ \\\\\\\\\\\\\\ <| °
& D D N D D D N
E \\\\\\S({\\\ \\\ \\\ \\\ X 20 <
A NN B
Ee SO NN N &
'?\il:) U\;w '\?6)0 S/:Z\\\ \\\ \\\ \\\ \\ \prl'/\ < © Lrﬂ)'
o ™~ \\\ \\\ \\ \\ <t K E\;)
™ 12 " N U E=! %o
X X X 18 < o
N N
\\\ \\\ <t
N
N <
©
-
>
™

ONE - GUARDRAIL - GR2

3l |°
b
11, # 11,

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
GR2 1 GUARDRAIL BEV-2
GR2 1 PL1/4"X4 15/16" 9'-4" 39 SHOP PRIME A36
bpl2 1 PL1/4"X4 15/16" 7-5" 30 A36
bpl6 1 PL1/4"X4 15/16" 7-3" 31 A36
brl 2 ROD3/8" 0'-5 9/16" 0 A36
br2 1 ROD3/8" 0'-7 1/4" 0 A36
br4 3 ROD3/8" 0'-5 5/8" 0 A36
p6 1 PL1/4"X7/8" 16'-3 3/8" 12 A36
p7 1 PL1/4"X7/8" 6'-8 5/8" 5 A36
p19 1 PL1/4"X7/8" 0'-3 3/4" 0 A36
p20 1 PL1/4"X7/8" 0'-10 7/16" 1 A36
p21 1 PL1/4"X7/8" 0'-9 7/8" 1 A36
pol 3 PL3/8"X2 1/2" 3'-4 5/8" 32 A36
po2 2 PL3/8"X2 1/2" 3'-4 9/16" 21 A36
srl 18 ROD5/8" 6'-0 9/16" 102 A36
sr2 9 ROD5/8" 3'-11 1/16" 33 A36
sr3 9 ROD5/8" 1-9 1/2" 15 A36
sr4 9 ROD5/8" 5'-0 15/16" 43 A36
TOTAL WEIGHT THIS DRAWING 365
DRAWING STATUS
SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (U.N.O.) ALL WELD TO BE E70 LH (U.N.O.)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR2




Tekla Structures

15'-2%6
5%6 13-67fg 11 27
47lg 5%6 I£:
S
ﬂ; 021 p20 3%6
y (brl GR1 < po3 bpi5 . P03 o2
\MJ e T e e = e = = At = e = e = e = — = e = e = e = —_— = e = = = = —\r‘
'?D ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, %:;:::,—:::,—::i ___________________________ ?,E::,—:::;;:::;:::;:E_,_,T,\ ‘E(r:
(o]
5 3%, Cbrs (p6 br5 br5 Cbpl4) (p8) (hrl) . 12
R S
N
o |
15'-2%6
5%6 13'-67/g 11 25
3 5'-1%¢ 5'-1%¢ 3-101146 436
315

12
;ﬁ
3

ONE - GUARDRAIL - GR1

6
= ©
=
—
©
~\, T
s ST
/ (p8 )
y —
e =sr1 <
bpls ) S
g 7 =~ St | Cbrl <
We C 7
<
<t < o
% ™
IR
<t AN
<
<
S
o =t
[\. )
o) P \
N
<
<
<z
~ 7
=
7 S
2 <
; 2,
7 3z i
2 —
= < -
// v:
7 < N
/ &
7 Y7 ™
7 <z
3% 7 <7
7
~
-
7
-
©
5 P20 S
00 N~
< (9p]
o
< (922) i
. 7 Y
<t brs =7 Z 7 7 (’} S 7
0 =z Z /”/ N7
oy < G = 7@z - o)
<t Z . S A - =
_t 8 // A // // // (\II
(90 S <t F Y S 7 P ™
(o0] V. G Z -
1 Z / “4 -
N <t 7 = 7 -
G =z -
< 4 =z 7
) -
< /// //
7
S F
S (po3)
> 03 &
™ ~

MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
GR1 1 GUARDRAIL BEV-2
GR1 1 PL1/4"X4 15/16" 9'-4" 39 SHOP PRIME A36
bpl4 1 PL1/4"X4 15/16" 1-1" 3 A36
bpl5 1 PL1/4"X4 15/16" 7-3" 31 A36
brl 2 ROD3/8" 0'-5 9/16" 0 A36
br5 3 ROD3/8" 0'-5 5/8" 0 A36
p6 1 PL1/4"X7/8" 16'-3 3/8" 12 A36
p8 1 PL1/4"X7/8" 1-15/8" 1 A36
p20 1 PL1/4"X7/8" 0'-10 7/16" 1 A36
p21 1 PL1/4"X7/8" 0'-9 7/8" 1 A36
p22 1 PL1/4"X7/8" 0'-3 3/4" 0 A36
po2 1 PL3/8"X2 1/2" 3'-4 9/16" 11 A36
po3 3 PL3/8"X2 1/2" 3'-4 5/8" 32 A36
srl 18 ROD5/8" 6'-0 9/16" 102 A36
sr2 9 ROD5/8" 3-11 1/16" 33 A36
sr7 9 ROD5/8" 0'-6 7/8" 5 A36
TOTAL WEIGHT THIS DRAWING 270
o o
{ 12
CTRD
¢
|
L5 Jmlﬁ TYP
| 6
|
¢
|
i
|
9]
|
b
[oN] ]
o
ol |
0}
|
|
?
|
0]
11, 11,
A-A
DRAWING STATUS
SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (UN.O.) | ALLWELD TO BE E70 LH (U.N.O.)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
GUARDRAIL RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
GR1




Tekla Structures

7'-10

1'-10

6'-0

) TRD4 B
% ( PL56"X74 )

13
he
% 1

BILL OF MATERIAL

MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
TRD4 2 LANDING PANS sQ2
TRD4 2 PLS/16°X74" 7-115/16" 1242 NO PAINT A36

TOTAL WEIGHT THIS DRAWING

1242

6'-2 |
|
Pr o
(TRD4) v 3
7-91%6
|
DRAWING STATUS
SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
NO PAINT 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
LANDING PAN RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
TRD4




Tekla Structures

6'-0

< TRD3 >
PL516"X63 34

5'-33)

BILL OF MATERIAL

MARK | QTY

DESCRIPTION

LENGTH

WEIGHT

REMARKS

TRD3 2

LANDING PANS

sQ2

TRD3 2

PL5/16X63 3/4"

60"

NO PAINT A36

TOTAL WEIGHT THIS DRAWING

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
NO PAINT 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
LANDING PAN RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
TRD3




Tekla Structures

(TRD2 )

6'-9

6'-2

¥

2 TRD2
( PL54g"X74 ) B
-

A (TRD2)
& 6-8LY
A 16

BILL OF MATERIAL

MARK | QTY

DESCRIPTION

LENGTH

WEIGHT

REMARKS

TRD2 2

LANDING PANS

sQ2

TRD2 2

PLS/16°X74"

6-10 /16"

1072

NO PAINT A36

TOTAL WEIGHT THIS DRAWING

1072

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
NO PAINT 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
LANDING PAN RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
TRD2




Tekla Structures

BILL OF MATERIAL

22'_913/16 MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS
16' 513/16 6'-4 sT3 1 STAIR BEV-2
ST3 1 HSS16X4X3/8 17'-11 13/16 808 SHOP PRIME A500-GR.B
8316 | 14'-103 | 103, |1b a6 1 L3X3X1/4 5-7" 27 A36
@ a7 2 L3X3X1/4 1'-9" 17 A36
(hss12) “hssil a8 4 L4X3-1/2X3/8 1-0" 36 A36
:: ;—i:,fi‘:,:i;,:i:,:i:,:i:,h isi}j*,:i:,:i:,:i;,:i:,:i:,:i:,:i;,:i:,:i:,:i;,:i;,:i:,:i:,:f;,:i:,:,ti 3@ hess | 1 | HSSI6xaxss T2 325 ASOO-GRB
— e —r— — hss6 1 HSS16X4X3/8 0-10 3/4" 40 A500-GR.B
Lo — ]
— N ( hSSG ) hss1l 1 HSS16X4X3/8 17'-11 13/16 808 A500-GR.B
M h aL ﬁ hss12 2 HSS16X4X3/8 1'-0 13/16" 96 A500-GR.B
pl 2 PL1/2"X4" 1'-4" 18 A36
trl 1 PL5/16"X23 5/16" 6'-0" 149 A36
tr4 14 PL5/16"X12 3/8" 6'-0" 1100 A36
TOTAL WEIGHT THIS DRAWING 3424
trl
¥ © 14 -tr4
| © LI >
STAIR UP
g (hss12 ) (hss5 ) (hss1l )
— trl
3 4 o
. - a6 = TYP Va
P |- - NS 2 B °
S [ I | S | S | S| S | S — ) S| S S_— - v 9 ¥ o N
< e e e e e e e e e ot i R i i ettt -
~ ST3 .33 hss5 .
(hss12) H8816X4X3/8> 1-3% (hss5) %hel” 2"@12
L j (a8) (a8)
B 8316 14'-103% 7-23) » B
|
22-91%6 C-C D-D E-E
16'-513/16 2291346
8316 14'-103; 1034 |1h 8316 14'-103g 7'-23 15
3% 1'-11 13@11=11'-11 83 3% 1'-11 13@11=11'-11 83,
ane ©
N \;,0““ TYP 4a
1'-31y ©
&
—
N
= o
= =
()] ()]
< pl >
CTR'D
= )
(o)) (e))
N -
w| P w|
o = o 9
Tox oy
(@] — (@) —
6 (o] 6 (o]
< <
— —
({o]
< < DRAWING STATUS
4 4
a8 (B/S

ONE - STAIR - ST3

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (U.N.O.) ALL WELD TO BE E70 LH (U.N.O.)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
STAIR RAD
ARCH: ENG: JOB NO:
CUSTOMER;: SHEET NO:
ST3




Tekla Structures

MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS
ST2 2 STAIRS BEV-2
ST2 2 HSS16X4X3/8 16'-5 3/16" 1476 SHOP PRIME A500-GR.B
a2 2 L3X3X1/4 57" 55 A36
a7 4 L3X3X1/4 1'-9" 34 A36
a8 8 L4X3-1/2X3/8 1'-0" 73 A36
hss7 2 HSS16X4X3/8 16'-5 3/16" 1476 A500-GR.B
hss8 4 HSS16X4X3/8 2'-17/16" 381 A500-GR.B
hss9 2 HSS16X4X3/8 7'-57/8" 673 A500-GR.B
hss10 2 HSS16X4X3/8 1'-17/8" 104 A500-GR.B
hss13 4 HSS16X4X3/8 1'-2 11/16" 220 A500-GR.B
pl 4 PL1/2"X4" 1'-4" 36 A36
p3 4 PL1/2"X2 1/2" 0'-4" 5 A36
p4 4 PL1/2"X4" 0'-6 15/16" 16 A36
tr4 30 PL5/16"X12 3/8" 6'-0" 2357 A36
TOTAL WEIGHT THIS DRAWING 6906
513/
16'-51316 22'-9134¢
2-1"he 13'-6%g 91, |1
2'-17he 13'-6%% 7'-11, 15
1'-81346 14@11=12"-10 1-13, 1'-81346 14@11=12"-10 1'-11,
49 49 9
111546 | 2% %y 11156 | 2% %,
hss13
= e -
sl 9 3hel/ \g
_ al S < %
S S
— L | —
a8 (BIS) ) |- a8 (B/S
31
3 SIDES
TYP > 3hal/
( ) h6 3l
o o
(o)) ())
- N
i il
5 T S
D o X 9w X
© GID [Te) GID
® o ® o
< — < -
— —
= &
N~ N
< < |
— —
pl
< CTR'D > CTRD
(_hss10 )
22'-913 ¢ 9 S (hss9)
2-1"he 13'-65 71, 7 ) (hss9) )
(hsss) A 1exaxds
< @ SS HSS16X4Xs38 @ o,i
< fiffiilp - - - - - - - - ;‘: ,lf;,1,:,lf;,lf;,1f:,1f:,1f;,1f:,1f:,lfa -
e ———— —r —— - - . - . . .  —_— e oo oo~ a7
< ]_ﬁ4,< L 1 /| 3
B (a8 P Ca7) Ca2) 3l 14 B 16
DRAWING STATUS
C-C D-D
_ ISTAIRUP
¥ < 15 - trd
~| ©
SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (U.N.O.) ALL WELD TO BE E70 LH (U.N.O.)
113 PROJECT:
4 V
— ’ (a7) TRULIANT MONUMENTAL STAIR
“p4_ - P DRAWN BY:
N\
e — —_— e —— — —_————————.—,—™—e— e L e— e —— e —_— DSA
< e s
N\ fJHQ\L ffffffffffffffffffffffffffffffffffffffffffffffffffffff [ ]
< DESCRIPTION: CHECKED BY:
(hss8 ) (p3)| (hss13) (hss7) (hss10 )
A A STAIR RAD
(a8 )
2'-1'he 13'-6% 91, | 1%
ARCH: ENG: JOB NO:
16'-513 6
2 - STAIRS - ST2 ,
CUSTOMER: SHEET NO:
ST2




Tekla Structures

8'-9%

2007 BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
14'-57/g 6'-4 sT1 1 STAIR BEV-2
ST1 1 HSS16X4X3/8 16'-1 9/16" 725 SHOP PRIME A500-GR.B
3 13-61/4 103 |16 al 2 L3-1/2X3X1/4 0-7" 6 A36
2 3 HOLES a6 1 L3X3X1/4 5-7" 27 A36
@ ﬁ (a—lmjg ‘ @ @ hss2 1 HSS16X4X3/8 16'-1 9/16" 725 A500-GR.B
,,,,,,, — S ———— === = = = = = = = = = = == == === === =========—=====—====—p—pF = hss5 1 HSS16X4X3/8 7'-2 3/4" 325 A500-GR.B
~ e | _ ‘;7j _ 17,‘7 P j‘lij _ ;7; I j‘ I ;Tj _ ‘j I ;T; I F o 777; _ ;7;‘ I }7; _ ;7,‘7 I N hss6 1 HSS16X4X3/8 0-10 3/4" 40 A500-GR.B
A N : : : : : : : : : : : : : ( hSSG ) A% pl 2 PL1/2"X4 1-4 18 A36
| | | | | | | | | | | | | p2 2 PL3/8"X2 3/4" 0-4" 2 A36
| 117/8 4 \ | \ \ \ | \ \ \ | \ \ \ tr4 13 PL5/16"X12 3/8" 6'-0" 1021 A36
| | | | | | | | | | | | | TOTAL WEIGHT THIS DRAWING 2889
\ \ \ \ \ \ \ \ \ \ \ \ \
\ \ \ \ \ \ \ \ \ \ \ \ \
\ \ \ \ \ \ \ \ \ \ \ \ \
\ | \ \ \ | \ \ \ | \ \ \
\ \ \ \ \ \ \ \ \ \ \ \ \
\ \ \ \ \ \ \ \ \ \ \ \ \
\ \ \ \ \ \ \ \ \ \ \ \ \
© 9 13-tr4) |  STAIRURL Ol | | | | | | | |
© © \ | \ \ \ | \ \ \ | \ \ \
\ \ \ \ \ \ \ \ \ \ \ \ \
\ | \ \ \ | \ \ \ | \ \ \
\ \ \ \ \ \ \ \ \ \ \ \ \
\ \ \ \ \ \ \ \ \ \ \ \ \
\ \ \ \ \ \ \ \ \ \ \ \ \ ©
\ | \ \ \ | \ \ \ | \ \ \ ( ) =
| \ | | | \ | | | \ | | | hss5 S)c'\l
\ \ \ \ \ \ \ \ \ \ \ \ \
7 \ \ \ \ \ \ \ \ \ \ \ \ \ 47
11% 4 \ \ \ \ \ \ \ \ \ \ \ \ \ 1'-33 | C 3 4
\ | \ \ \ | \ \ \ | \ \ \ (a6 ) ﬁ;
N \ | \ \ \ | \ \ \ \ \ \ \ | (a6)
B i . I N | SN | S | S | SO | N | SN | S | E | S | S | S | S| S S — N
DA N N 2”@15
B ( p2 ) M@ ST1 @) - B
2 - 34 BPHOLES| HSSl6X4X3/8> C C-C
3 13-614 7'-23 b LA
14'-57fg 2097/
3R 13-614 103, |1 3 13'-6Y, 7'-23 1
1-9% 12@11=11'-0 834 1-9% 12@11=11"-0 834
: :
= = CTRD
o o
CTR'D
0 0
o, 2,
N N
& © & ©
© © 9 L
c o | T
© % ©
® ®
~ ~N
— —
o
o\
\;,'\/
9 9
— N ﬁ N ﬁ
SN S
~ 3 SIDES N
J (Rop ) 1k | Cal) 5 7 TP J DRAWING STATUS
CTR'D

ONE - STAIR - ST1

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
SHOP PRIME 3/4" BOLTS, ST (U.N.O.) ALL WELD TO BE E70 LH (U.N.O.)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
STAIR RAD
ARCH: ENG: JOB NO:
CUSTOMER;: SHEET NO:
ST1




Tekla Structures

6'-0

TRD1 A
( PL516"X12 38 >

115
j
Py
)
=
by

BILL OF MATERIAL

MARK | QTY

DESCRIPTION

LENGTH

WEIGHT

REMARKS

TRD1 1

TREAD PAN

sQ2

TRDL 1

PLS/16'X12 3/8"

60"

NO PAINT A36

TOTAL WEIGHT THIS DRAWING

DRAWING STATUS

SHOP PAINT: 2.5 MILS DFT 13/16" @ HOLES(U.N.O.) ALL STEEL TO ASTM A36 U.N.O.
NO PAINT 3/4" BOLTS, ST (UN.O) | ALLWELD TO BE E70 LH (UN.O)
PROJECT:
TRULIANT MONUMENTAL STAIR
DRAWN BY:
DSA
DESCRIPTION: CHECKED BY:
TREAD PAN RAD
ARCH: ENG: JOB NO:
CUSTOMER: SHEET NO:
TRD1






